Warehouse Use Only

H3542B

Part # QTY :
o y 0 Picker E]
H45 4 (O 1 9 7 6
H46 4 (O
A286-65B > 0 =
Pick Weight bs.
BG565 2
D Date / /
D061 1 _ -
D541 0O Time ' O
D281N 1 BIN
Warehouse Use Only
Dt i qTY Packer E]
AA 1 D Invoice #
AB 1 D Date / / Bm

'Pack Time .55 |







Van & Truck

Cargo System

® Vantech USA www.vantech.com
FOR WAREHOUSE USE REQUIRED TOOLS
Part # H3542B 1/2" Wrench
System: H3 Series
Material: Aluminum
Fitment: RAM ProMaster Cargo
Color: Black




PART # DESCRIPTION QTY
ITEM NOT DRAWN TO SCALE
S052 DOUBLE SLIDER 2" BOLT TO BOLT 4
W008 5/16” X 3/4” WASHER 16
NO05 5/16” NYLON NUT 16
B016 5/16” X 1 1/4” CARRIAGE BOLT 8
B166 5/16” X 1" COUNTERSUNK BOLT 8
H45 PROMASTER ADAPTOR (TOP) 4
H46 PROMASTER ADAPTOR (BOTTOM) 4
MO8 MOUNTING BASE 4
A286-65 3" X 1.5” X 65" CROSS BAR 2
A286-C PLASTIC ENDCAP 4
BG565 RUBBER BAR GUARD 65 2




RUBBER BAR GUARD

=
- Press the rubber bar guard into the channels of cross bars l /

tighten
hardware




ProMaster
Mounting Point

90°

*Secure all hardware



